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I(l/ j Show that the armature torque developed ina DC motor is Ta = 0.159 tl’/J-ﬂu]-tIJ la. ‘:”[
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| With usual notations, derive an expression for EMF equation ol an alternator,
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P, Draw and illusteane the characteristics of DC shunt and DC serjes motor. O3
i il
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i Fiags | Give the applications of DC Motors.
R 7 GIT
! /4417 Cuompare between salient pule type and non-salient type rotors of synchronous generior, o3
1 “db. Coampare between qquim.l cape and slip ring rotors of induction motor,
. 5.+ Show that a rotating maywue field is produced when a 3-¢ balanced suppt} 1S given ‘o €02
! the stator winding ol a 3-p induction motor,
el Spalinte. B¥ oo o W i
On
= Explain the necessity ol starter for 3-¢ induction motor. With a neat sketch explain CO2
: the star- delt starter for a 3-4 induction motor.
“Ta. | A 4 pale. 220V, lap connected DC shunt motor has 36 slots. each slot containing 16 o4
- conductors. 11 draws i current of 40A from supply. The tfield and armature resistances
are 110€) and 0.1€2 respectively. The motor develops an output power of 6kW. The [Tux
B per pole is 40mWh, Calculate i) Speed ii) torque deve!upLd by the armature iii) Shaft
- Tarque.
L=, LA depole. 3-phase alternator driven at 1800rpm has 42 slots with 4 conductorsslor.
lml.mu flux/pole is 0L36Wh, sinusoidally distributed. Assume kg= 0.956 and k=
| (.952, Find l|1L line voltage on no-load if connected in i) star and ii) della
- - . y UR -
1;,:/ ] Find the wselul Mux/pole of a 250V, 6 pole shunt motor having a two cireuil €04 .

feonnected armature winding with 220 conductors. The armature resistange is 0.2 0
b and the armature current is 13.3A at the speed of 908 rpm.
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Hh UA 6 pole. 3 phase. S0Hz alternator has 12 slots/pole and 4 conductors/slot. The !
i winding is 5/6 full pitched. A flux of 25mWb is sinusoidally distributed along the air \
' gap. Determine the line emfif the alternator is star connected. :
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9a. | A 3 phase. 6 pole, 50Hz induction motor has a slip of 1% at no-load and 3% at full load.
- \<i Caleulatei) Synchronous speed ii) No-load speed iii) Full load speed iv) Frequency ol
i rotor current at standstill v) Frequency of rotor current at full load. |

ap. _{ A 4 pole. 400 volts shunt motor has 720 wave connected conductors on its armature.
FFull load armaturc current is 50 Amperes. Flux per pole is 0.05 Weber. armaturc
resistance is 0.2 £ and the brush contact drop is 1 volt per brush. Calculate the full load

CO4

.'-_" AT
i et

speed of the moltor,
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tuf, 1 A 3 phase induction motor is wound for 4 poles and is supplied from 50 Hz system.
' Caleulate (i) the synchronous speed (ii) the speed of the motor when slip is 4 % and (i)
- the rotor current (requency when the motor runs at 1440 rpm. 4
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- 5 A 440 volts duoe. shunt motor takes an armature current of 20A and runs at 500rpm. The

by 40%. calculate the new values of armature current and speed. =
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| armature resistance is 0.6 Q. If the lux is reduced by 30% and the torque is increased
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